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COMPUTER NETWORK AND DATA COMMUNICATION
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Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questioﬁs . 2x10
(a) Define ‘data rate’ and ‘signal rate’. Write the relationship between them.
(b) Mention importance of scrambling for long distance data communication.
(c) Find the Hamming distance between 110011 and 100110.
(d) Write the differences between byte stuffing and bit stuffing.
(e) What are the usefulness of piggybacking technique ?
(f) Differentiate between p-persistent and non-persistent method.

(9) What is the function of a transparent bridge? Write any two criteria that

must be met while using transparent bridge.

(h) Write the different types of services associated with a packet in IPv4.
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Compare HTTP with SMTP.

Outline any four functions of network management.

If a channel has a bandwidth of 1 MHz, the signal-to-noise ratio is 36, find
the channel capacity and signal levels. 5
Compare relative advantages and disadvantages of different polar schemes
used for line coding. ! 5
State how spread spectrum is different from multiplexing. Discuss the
different techniques associated with spread spectrum. 5
Name the different switching techniques. bifferentiate between circuit switched
networks and datagram networks. o
Compare the relative performances of Go-back-N ARQ and selective reject
ARQ. 5
Fora pétfern P=101110 and message M=10101001101, find the frame
check sequence. 5
Write the necessary conditions that lead to collision. Briefly explain the

operation of CSMA/CA. 5

If a subnet has an IP address 192.117.40.32/16, find the mask value, subnet
number, no. of hosts and the starting address for this subnet. 5
With a suitable example explain each steps of Link state routing algorithm.

5

Define ‘congestion’. Mention the different mechanisms associated with

closed-loop congestion control. 5
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7. (a) Briefly explain the working of Simple network management protocol.

(b) Outline the important steps of RSA algorithm with suitable examples.

8.  Write short notes on any two of the followings :

(a) TCPvs.UDP

(b) Asynchronous transfer mode

(c) Filetransfer protocol.
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